EXHIBIT A

Case 15-15249 Doc 334-1 Filed 01/28/16 Entered 01/28/16 16:14:15 Desc Exhibit A Page 2 of 10

Gulf Packaging, Inc.

Engagement: 865407.001 Bill Date: 01/14/16

Crowe Horwath LLP For the period 06/10/15 through 11/30/15 By Category of Work Performed

Category Of Work	Time	Charges
Business Analysis	46.60	17,064.50
Fee/Employment Application	2.30	898.00
Meetings of Creditors	9.70	3,743.00
Plan & Disclosure Stmnt	9.00	3,257.50
Total Professional Fees	67.60	24,963.00
Total Profession	al Fees & Costs	24,963.00

Case 15-15249 Doc 334-1 Filed 01/28/16 Entered 01/28/16 16:14:15 Desc Exhibit A Page 3 of 10

Engagement: 865407.001 Bill Date: 01/14/16

Crowe Horwath LLP For the period 06/10/15 through 11/30/15

Fees and Time by Month

Month	Time	Charges
June 2015	23.90	9,191.50
July 2015	2.50	987.50
August 2015	9.40	3,370.50
September 2015	25.10	9,064.50
October 2015	6.20	2,151.50
November 2015	0.50	197.50
	67.60	24,963.00

Case 15-15249 Doc 334-1 Filed 01/28/16 Entered 01/28/16 16:14:15 Desc Exhibit A Page 4 of 10

Gulf Packaging, Inc.

Engagement: 865407.001 Bill Date: 01/14/16

Crowe Horwath LLP For the period 06/10/15 through 11/30/15 Professional Fees and Time by Employee

Name	Time	Rate	Charges
Fishel, Jeffrey	17.50	310.00	5,425.00
Kalten, Dennis	8.10	380.00	3,078.00
Rodriguez, Alejandro	1.00	265.00	265.00
Schwarzmann, Michael	41.00	395.00	16,195.00
	67.60	-	24,963.00
		-	

Case 15-15249 Doc 334-1 Filed 01/28/16 Entered 01/28/16 16:14:15 Desc Exhibit A Page 5 of 10

Engagement: 865407.001 Bill Date: 01/14/16

Crowe Horwath LLP

For the period 06/10/15 through 11/30/15

Business Analysis

Name	Date	Time	Rate	Charges
Kalten, Dennis	06/17/2015	1.50	380.00	570.00
Prepare for and participate o	n weekly creditor commi	ttee call.		
Schwarzmann, Michael	06/17/2015	1.80	395.00	711.00
Numerous emails with CRO Participate in Committee cal		and information re	equests (.8);	
Schwarzmann, Michael	06/22/2015	2.00	395.00	790.00
Review schedules received to	from T. Gavin; discuss sc	hedules with J. Fis	shel	
Fishel, Jeffrey	06/22/2015	1.50	310.00	465.00
Discuss schedules from Deb	otor F/A with M. Schwarz	mann. Prepare an	alysis.	
Schwarzmann, Michael	06/22/2015	1.10	395.00	434.50
Call with counsel re case iss	sues			
Schwarzmann, Michael	06/24/2015	0.30	395.00	118.50
Prepare for Committee call				
Schwarzmann, Michael	06/24/2015	1.10	395.00	434.50
Participate in Committee ca	11			
Schwarzmann, Michael	06/24/2015	0.20	395.00	79.00
Email T. Gavin re status of	reports on affiliate activit	у		
Schwarzmann, Michael	06/24/2015	0.20	395.00	79.00
Email F. Cross re data room	access and copies of CIM	M and Teaser		
Schwarzmann, Michael	06/25/2015	1.00	395.00	395.00
Access data room to review	information presented			
Schwarzmann, Michael	06/30/2015	0.80	395.00	316.00
Call with Fred Cross re sale	process and interested pa	arties		
Schwarzmann, Michael	06/30/2015	0.40	395.00	158.00
Review information in Data	room, email investment	banker to discuss		
Schwarzmann, Michael	07/15/2015	1.10	395.00	434.50
Participate in call with the O	Committee			
Schwarzmann, Michael	07/22/2015	1.40	395.00	553.00
Prepare for and participate items (.3); Email counsel re	in Committee call (1.0); (c discovery (.1)	Call with counsel r	e follow up and	
Fishel, Jeffrey	08/14/2015	0.50	310.00	155.00
Review and discuss filing re	e: plan with M. Schwarzn	nann.		
Schwarzmann, Michael	08/14/2015	0.50	395.00	197.50
Review and discuss filing re	e: plan with J. Fishel.			
Schwarzmann, Michael Committee call	08/17/2015	0.80	395.00	316.00

Case 15-15249 Doc 334-1 Filed 01/28/16 Entered 01/28/16 16:14:15 Desc Exhibit A Page 6 of 10

Gulf Packaging, Inc.

Engagement: 865407.001 Bill Date: 01/14/16

Crowe Horwath LLP

For the period 06/10/15 through 11/30/15

Business Analysis

Name	Date	Time	Rate	Charges
Schwarzmann, Michael	08/18/2015	1.60	395.00	632.00
Work on data collection from information received, and re		cluding several en	nails, reviewing	
Fishel, Jeffrey	08/24/2015	1.00	310.00	310.00
Discuss data received from l	Debtor with M. Schwarzn	nann.		
Schwarzmann, Michael	08/24/2015	1.00	395.00	395.00
Discuss data with J. Fishel.				
Rodriguez, Alejandro	08/27/2015	1.00	265.00	265.00
Discuss data formatting with	M. Schwarzmann and J.	Fishel.		
Schwarzmann, Michael	08/27/2015	1.30	395.00	513.50
Analysis re information rece Rodriguez and J. Fishel	ived and next steps in ana	llysis, including d	iscussions with A	٨.
Fishel, Jeffrey	08/27/2015	1.00	310.00	310.00
Conference call with M. Sch issues.	warzmann and A. Rodrig	uez re: data receiv	ed and formattin	
Schwarzmann, Michael	09/03/2015	0.50	395.00	197.50
Emails re term sheet, revision	ns, and insights			
Schwarzmann, Michael	09/08/2015	1.00	395.00	395.00
Prepare for and participate in	call with committee			
Schwarzmann, Michael	09/09/2015	0.60	395.00	237.00
Committee call				
Schwarzmann, Michael	09/11/2015	1.30	395.00	513.50
Review preference / new value	ie analysis			
Fishel, Jeffrey	09/11/2015	2.50	310.00	775.00
Prepare liquidation analysis of	omparing Chapter 7 liqui	dation to Plan of	Reorganization.	
Schwarzmann, Michael	09/16/2015	0.90	395.00	355.50
Committee call				
Fishel, Jeffrey	09/16/2015	3.00	310.00	930.00
Various conference calls with review and revisions.	M. Schwarzmann and co	ounsel re: liquidati	on analysis	
Schwarzmann, Michael	09/16/2015	3.00	395.00	1,185.00
Various calls with J. Fishel ar	nd counsel re: Liquidation	Analysis.		
Fishel, Jeffrey	09/17/2015	1.00	310.00	310.00
Conversation with M. Schwar	zmann re: preference ana	lysis work to be d		
Schwarzmann, Michael	09/17/2015	1.00	395.00	395.00
Review preference analysis ar	nd discuss with J. Fishel			

Case 15-15249 Doc 334-1 Filed 01/28/16 Entered 01/28/16 16:14:15 Desc Exhibit A Page 7 of 10

Engagement: 865407.001 Bill Date: 01/14/16

Crowe Horwath LLP

For the period 06/10/15 through 11/30/15

Business Analysis

Name	Date	Time	Rate	Charges
	00 (00 (00 4 5	1.00	205.00	205.00
Schwarzmann, Michael	09/29/2015	1.00	395.00	395.00
Prepare for and participate in	Committee call			
Schwarzmann, Michael	09/30/2015	1.00	395.00	395.00
Prepare for and participate in	Committee call			
Fishel, Jeffrey	10/02/2015	1.50	310.00	465.00
Work on preference analysis a	nd review schedules pr	ovided by Debtor.		
Fishel, Jeffrey	10/13/2015	1.50	310.00	465.00
Work with M. Schwarzmann	on preference analysis a	and schedules prov	ided by Debtor.	
Schwarzmann, Michael	10/13/2015	1.50	395.00	592.50
Review preference analysis w	ith J. Fishel.			
Schwarzmann, Michael	10/15/2015	0.50	395.00	197.50
Review work product with J. l	Fishel.			
Fishel, Jeffrey	10/15/2015	0.50	310.00	155.00
Review work product and disc	cuss with M. Schwarzm	nann.		
Schwarzmann, Michael	10/15/2015	0.40	395.00	158.00
Committee call				
Schwarzmann, Michael	10/28/2015	0.30	395.00	118.50
Call with Counsel re case issu	es			
Schwarzmann, Michael	11/24/2015	0.50	395.00	197.50
Participate in Committee call				
	F-3002-18			
Total Business Ana	alysis	46.60		17,064.50

Case 15-15249 Doc 334-1 Filed 01/28/16 Entered 01/28/16 16:14:15 Desc Exhibit A Page 8 of 10

Gulf Packaging, Inc.

Engagement: 865407.001 Bill Date: 01/14/16

Crowe Horwath LLP

For the period 06/10/15 through 11/30/15

Fee/Employment Application

Name	Date	Time	Rate	Charges
Kalten, Dennis	06/19/2015	0.70	380.00	266.00
Initial review of draft employment	application			
Schwarzmann, Michael	06/25/2015	1.60	395.00	632.00
Prepare employment application, in exist	cluding reviewi	ng contacts and assur	ing no conflicts	
	-			
Total Fee/Employment A	Application	2.30		898.00
			-	

Case 15-15249 Doc 334-1 Filed 01/28/16 Entered 01/28/16 16:14:15 Desc Exhibit A Page 9 of 10

Engagement: 865407.001 Bill Date: 01/14/16

Crowe Horwath LLP

For the period 06/10/15 through 11/30/15

Meetings of Creditors

Name	Date	Time	Rate	Charges
Kalten, Dennis	06/15/2015	1.50	380.00	570.00
Review Statement of Financi granting motion for adequate advance of attending tomorro	protection and cash coll			
Schwarzmann, Michael	06/15/2015	1.80	395.00	711.00
Prepare for 341(a) by review Pleadings on file	ing declaration of CRO,	SOFAs and Sched	ules, and various	
Schwarzmann, Michael	06/16/2015	2.00	395.00	790.00
Call with Counsel in advance re discussion items (.2)	e of 341(a) (.3); Attend 3	41(a) 1.5); Emails	with committee	
Kalten, Dennis	06/16/2015	0.30	380.00	114.00
Discussion with M. Schwarz	mann re: preparation for	341(a) meeting.		
Kalten, Dennis	06/16/2015	1.70	380.00	646.00
Attendance and participation	at 341a meeting.			
Kalten, Dennis	06/16/2015	2.10	380.00	798.00
Continued review of Stateme final order granting motion f declaration, in advance of at	or adequate protection as	nd cash collateral,		
Kalten, Dennis	06/16/2015	0.30	380.00	114.00
Discussion with S. DeRouss	e re: 341a meeting and c	ase strategy.		
Total Meetings of	f Creditors	9.70		3,743.00

Case 15-15249 Doc 334-1 Filed 01/28/16 Entered 01/28/16 16:14:15 Desc Exhibit A Page 10 of 10

Gulf Packaging, Inc.

Engagement: 865407.001 Bill Date: 01/14/16

Crowe Horwath LLP

For the period 06/10/15 through 11/30/15

Plan & Disclosure Stmnt

Date	Time	Rate	Charges
08/26/2015	0.70	395.00	276.50
09/15/2015	3.50	310.00	1,085.00
M. Schwarzmann and o	counsel re: liquida	tion analysis	·
09/15/2015	2.50	395.00	987.50
•	flecting potential	outcomes,	
09/15/2015	1.10	395.00	434.50
with counsel re liquida	tion analysis		
09/16/2015	1.20	395.00	474.00
including discussion w	ith counsel		
sure Stmnt	9.00		3,257.50
	08/26/2015 09/15/2015 M. Schwarzmann and of the operation of the operati	08/26/2015 0.70 09/15/2015 3.50 M. Schwarzmann and counsel re: liquidate 09/15/2015 2.50 alysis for Committee reflecting potential with counsel. 09/15/2015 1.10 with counsel re liquidation analysis 09/16/2015 1.20 including discussion with counsel	08/26/2015 0.70 395.00 09/15/2015 3.50 310.00 M. Schwarzmann and counsel re: liquidation analysis 09/15/2015 2.50 395.00 alysis for Committee reflecting potential outcomes, with counsel. 09/15/2015 1.10 395.00 with counsel re liquidation analysis 09/16/2015 1.20 395.00 including discussion with counsel — —